MEX1.0P

Cross Flat B=11

(C=126)
P28

. Y . =
{1 OO S L DR EL L) o
45 | 34 _|__ 6 _\_ 8.5
" 53
ShBA | FRtEE |
2 mn — L 1R m_m:'rlvu “::.l ﬁ}}n :E..T'T{H ag
MODEL ‘Srhgus| et | WEIGHT | micponcr | M ovn |FORCEN |mmmumae
S 0806-1 il 1.8 0.9 ~5.6 20 4320 | 2B~53 <1070
SC0806-2 6 1.8 2510 1.2 4320 [28~53 | -10-70
SC0806-3 6 1.8 [5.6~225| 0.8 4320 |28~53 -10-70
Cross FlatB=11
MEBX1.0P (C=126)

Wbk | ik
.=' | RERRRERRERI

111111
(1L |
(L0 0

11 i
I ] L
445
dkfd FeEEA
R am| TRRE | EFFECTIVE l‘.:.l :::;: :E.n""?,‘ ag C
MODEL STROKE r:“ b i't:ﬂl:‘:-'.lg MAK IMPACT r&ml FORCE N | Toammarvm
SC0806-1 MC| 6 1.8 0.9~ 5.6 20 4320 | ZB~53 | -10=70
SC 08062 NC | 6 1.8 2510 1.2 4320 | IB~53 | -10~T70
SCO0806-3 NC | 6 1.8 | 56~225 0.8 4320 | 28~53 .10-70




Cross Flat B=12.7

M10X1.0P

{ | | | | el | _r
LRI R EELE R L LR LA LERNA E
o ISR FEEYEEEEEY i vi {1 L
46 | 40.9 ‘ 8 ‘ 8.5
6.2
HERx |(HoERA | gnas o
2 owm # mmm| WEEE  EFFECTIVE a's Aaif I?E‘.lﬁg‘i ar c

MAX N5 WEIGHT | MAX IMPACT MAX M
FER CYCLE We kgl SPEED FER HILR

SCI0081 8 32 (09~10 | 26 7,680 35~65 -10-70
SC10082 8 | 32 28~178 1.5 | 7680 35~65 |-10~70
SC1008-3 8 32 10-40 | 08 | 7680 35~65 -10-70

MODEL | srpoke FORCE N | TEMPERATURE

Cross Flat B=12.7
{C=14.5)

M10X1.0P

iy
N gl b
LR R LR R HULH =
n 1111 R R R R R R R R R | 141 ) —l—
4.6 409 8
L -l -
) 53,5 2
BeBA | gueha |
o R  nmm WRLE  EFECTIVE ”:-‘-! ;.::l:l_‘“ ;'1-11‘-'-“'; ag °c
MODEL [STMORE) s “Wep | "is | ikwoin | FORCE X [ meneas
SCI008-1 NC 8B 32 (09-~10 2.6 74680 35~65  .10-T0
SCIME-2NC 8 32 18-178% 1.3 7680 35-65 -10-70
SC 1008-3 NC 8 3.2 10 - 40 0.8 7680 | 35~65  -10-T0




M12X1.0 Em?c':ﬂtﬁr 14

mﬂnu:'L e E:-E :%EEE ::'E:n ::“Eu peroy | %€
STROKE g Wetg) SPEED peg poue | FORCEN | TEMPERATURE

SC1210-1 10 (i1 1.8~ 188 2.6 14,400 4=~9 |10 ~ 70
SC1210-2 10 6 53~-33 1.5 14,400 4~9 |-10 ~ 70
SCI2103 19 | 6  12~75 | 0.8 | 14400 | 4~9 10~ 7D

Cross Flat B=14
(C=16)

M12X1.0

@3
- MMM ARG = (O —
(' FEETTET TR i vt v | B
4.3} 4738 . 10
. 62.6 :
ki HHERA | gadd | e% guan | ae o

Yo A ikt | EFECTIVE e ARE | porea

MODEL o MAXNM | WEIGHT | sax piwact  MAX XM
STROKE s e arEEn: rer potr | FORCE N | TEMMEATVRE

SCI1210-1 NC| 10 6 18~188| 2.6 14400 | 4~9 | -10-T0
SC1210-2 NC| 10 6 | 53~33 1.5 14400 | 4~9 | .10-70
SC 12103 KC| 10 6 12~75 | 0.8 | 14400 | 4~9 |-10-70




Cross Flat B=19
M14X1.5P ;’; (C=21.6)

D35

~l
™
—
Sy
8 | 59.3 12 ‘ 13.4
| | |
92.7 a
| axRx  Smeda N -
8 R pom| ®ERE EECTIVE h:f.lt ﬂ.:.I.HI E'I'!li-:l}*i an L
MOREL | sTRoxe HM::‘&T:J “":::-I::».I:jl “::::'III;MI I:I:Tn\r::e [-'l!]-R{‘E.!'-.' TEMFELATUNE
SCi4120 12 | 16 4.7-~32 26 | 28800 6.0 ~14 -10 - T0
SC412-2 12 | 16 14 ~ 65 1.5 | 28800 |6.1~14  -10 - 70
SCHMIZ3 12 16 56~200 o8 | 28800 6.1~14 |-10 ~ 70

Cross Flat B=19

6 M14X1.5P / (C=216)
} i '

8 59.3 12
e - -
-~ ' g
SARA |NueBa | £ean sht | "
oML SERE EFECTVE | ann i ]:",'.'rfl':’\ Ak *
MODEL STRUKE PI:lH*{lﬁ?::‘:_l-: “nlﬂlp,': '\I::‘I:E:H'I' r';"l:’l'l-“;;"! FORCE N | mossrenaroe
SClzANC 12 | 16 (4.7~32 26 | 28,800 61~14 -10-70 |
S0 1412-2 NC| 12 | 16 14 ~ 65 1.5 28,800 6.1~14 -10-70

SC 14123 NC 12 16 | S56~200 0.8 28,800 | 6.1 ~14 | -10-70



M14X1.5P

| |
Frmi

Cross Flat B=19

(C=21.6)

e |
LR LR L o
=3
48 50.2 ‘4 12 h‘ 13.4
-E- , -
- Eﬂ'd -
Batdl w
2R || tees [mmome| UYL amas | o3
MODEL STROKE l':lhn‘m'l.'lﬁ ‘.-“E::.T;' “mﬁm FER IHIE FORCE M | TEMrELTURE
SCI412B%-1 | 12 | 16 (47~32| 26 28,800 4.4~92 10 ~ 70
sCl41288-2 | 12 16 14~65 1% 28,800 4.4~9.2 .10 - 70
SCI412BS-3 12 16 56~200 0.8 28,800 4.4~9.2 -10 ~ 70
Cross Flat B=19
M14X1.5P (C=21.6)
(¥ ]
i
1I|I WEVUNERV UV RN y i - ET.
s (LR LR Il M
4.8 50.2 12
= 67.0 =
TR IR AR
i r;“n:‘:: ‘wﬂ | sreen | r’;"-“ui:rn__rmcg H_Tm-m'!
SCI4I2BS-INC | 12 | 16 | 47~32 26 28800 44~92-10 ~ 70
SCI412BS-2NC | 12 16 | 14-~65 15 25800 44~92-10 ~ 70
SCI412BS-3NC 12 16 | S56~200 08 28,800 4.4~9.2-10 ~ 70




Cross Flat B=19
6 M14X1.5P S (C=21.6)
1 [ M14X1.0P)

@35

=
&t
—
e
LB 1 67 115 | 134
L, 103.4 N
HERE HeERE  Toan bl -
TR | e MR EFFECTVE s wens |LWES | am
MODEL | grpokp  MAX S WEIGHTT | SEAX IMPACT | MAK MM HECE % | TEMPERATURE
| OPERCYOLE | Welkgl  SPEED ririiorn | FORCE :
SC 1415-1f 15 20 5.9 ~ 40 2.5 36,000 6.1 ~15 | -10~T0
SC 1415-2 15 0 17.8-81.6 1.5 36,000 | 6.1 ~ 15 | -10~T0
SC 1415-3 13 20 625~ 250 0.8 36,000 6.1 =15 | -10~TD

fErchs Flat B=19
6 M14X1.5P (C=21.6)
o | = ;"{M 14X1.0P) _ff

el dmiia *

ok |mam| SaAt fomcme) Swe | giws |Te | 22

! = SRCIEE PER CUCLE uHIhyJ- SPEED rer povr | FORCE & TEHFERAILEE
SC 1415- INC| 15 0 5.9-40 | 2.6 | 36000 |6.1~15|-10~70
SC 1415-2 NC. 15 W 17.5-BL6| 1.5 36,000 | 6.1 = 15 | -10~70
SC1415-3NC 15 | 20  |625-250]| 0.8 | 36000 | 6.1 ~15 | -10~70




Cross Flat B=19
6 MI14X1.5F C=216)
-+ /(M14X1.0P) /

@35

L 1334 i
HERA Nk FA | sean 800 -
2 R amm TERE | EFFECTIVE n's g :-'.I}HT?:\ an x
MODEL | sraoxe I‘:I'::"I:‘: K “:.\hrl':;.l,l;]l “:::T::“ Pll::l;;:llit FORCE ™ | TEMrEmayoes
SC 14251 25 28 4.6 ~ 39 35 | 58800  6~155  .10-70
SC1425-2| 25 | 28 14114 2.0 58,300 6~155 | -10~70
S0 14253 25 28 25 ~ 350 1.5 SREDO Gh=~1558  -10-~70
IC ross Flat B=19
6 M14X1.5P [C=21.6)
T B R AIM14X1.0P) /
-'-. ] |_|'-|
et
L=
1
i
23 o
| 120 il
kERE HEE¥Ta Enug B s
-~ AERT | EFFECTIVE “r.- aanl il &1
MODEL I.irl a;:m'- MAX N WEIGHT | sax eacy | Maxm | RETURN
i " PERCYCLE W fkg) SPEED reg pog | FORCE N | TEMFORLy UK
SC 14251 NC | 25 28 | 46~39 | 35 SEE00 6~155 -10-T0
SC 1425-2 NC | 25 . 28 14 =114 20 SH B G-~155 | -1~ T
SO 1425-3 NC 25 28 25~ 350 1.5 S8, 4100 6=~155 -10-70



'M20X15P

Cross Flat B=26
(C=29.7)

B 5

0 i
-~
H
Sy
9 85 20 16
e i il _——
130
| -
HARE Heu¥FU | Toax Boneb g
£ B o anm WEEF EFFECTIVE s ;q::“ ::-'J“"ix ax °C
i M r:.lu?-:‘:l.l ““.:I:;.I;Jt “:::;I:LM ) :l"l‘.:.llul g | FORCE N | TEMARATLRE
SC2020-1 20 is 6.8 ~ 27 iz 42,000 9-~23 | -10=T0
SC2020-2 0 35 17.5~T70 2.0 42,000 923 | .l0~T0
S0 2020-3 20 35 48.6 =777 1.0 42 000 023 (k=T
M20X1 5P Cross Flat B=26
p ' (C=29.7)
L
L
L)
i
9 85 20
[P - [ [ 8
B 114 A
Bkl HemEda EwiA -k esh
g u 5o mm TERE | EFFECTIVE B aeni 'ﬁ'::"uj:ﬁ xR C
TR STROKE I‘:IIH_‘:\‘::‘;I E “h':.:‘|ﬂ|! “:;}::-IE;“ ; rh:;::lﬂllﬁ FUBRLF M TESIPER G0 EE
SC 2020-1 NC 20 is 6.8 ~ 27 iz 42, (M) 0 ~23 =10~ T0
SC2020-2 NC | 20 I3 17.5~70 | 20 42,000 | 9~23  -0-T0
SC 20203 NC | 20 35 486~777 10 42000 | 9~23 | -10-70



[E ross Flat En?ﬁ

S (C=29.7)
M20X1.5P y

- 158 |
WREA AnEEA | paan o i
ﬂ 5 nmm BELE  EFFECTIVE P neni :.r:_?.':; S

YIODREL - ALAX MM WEIGHT | seas paeact AKX NN
L | sTROKE 1 | B
PERCYCLE |  Weikzy | SPEED | PERBouR | PORCE N

TESIF RATL R

SC2030-1 30 46 9~3 | 32 | 55200  86-~24 -10-70
SC 2030-2 0 30 46 23~92 20 55,200 Bb~24  .10-70
S0 2030-3 0 30 4 6 ~ 573 i.0 55,200 Boa-=24 -10-70
Cross Flat B=26
g M20X1.5P J (C=297)
- ol
4 @5
5 o0
m T :
m E -
n
@ . B
9 815 30 18
N 1385 ._
A | HuEdUN | goan T
n 1 F oo mm| WHREE EFECTIVE a3 A i ::?lﬂ' &x °C
MODEL STROKE  MAK N WEIGHT | MAX IMPACT I';'H"'-::*“'""'" FORCE N | Tosreuwrene

PERCYCLE W lkg) SPEED
SC 2030-2 500 30 46 23 ~02 2.0 55,200 TA~18 | -10=70



Cross Flat B=26

M20X1.5P JC=8T)

@5
| f =
| )
Lol 1475 AL 50 116 |
i 2225 a
HARE HHEFA | Eoax " -
B ¥ g ogem| TERR EFFECTIVE | ws aany Uy |
MODEL | STROKE| S0 le| 'Weaw | Seeen | reRmoun |FORCEN | Todrmiros
SC2050-1 50 (ied 10,1 ~124 | 35 63,240 925 | 1070
SC 2050-2) £p (% 183 ~ 253 2.6 63,240 0~285 | 10-~70
S0 2050-3 =0 62 55 ~ 496 1.5 63,240 9~25 | -10=T0
Cross Flat Beld6
] G |:':_'::"3.-" }
— E . i ._.I'
o]
T
| _ LBy
Ll 1475 A 50 16 |
. 222.5 N
BEds Fatdd  zeua R

H g O AR E FEFFECTIVE E aanE }I;"PHI.TI;J“ ag C
MODEL STROKE ~ MAX MM WENMHT | SiaX mvirarT | MAX MM :I-'ll-R'l.' |-'~.|
- - T PERCYOLE We kgl SEEED FEE HLHLH &

T FCEATURELD
SC2050-11A 50 | 62 101~8 35 | 63240 713 1070
SC2050-124 50 62 T8-55 4 63,240  7~18 | -10-70

SC 2050134 50 62 |61~383 45 | 63240  T7~18  .10-70



Cross Flat B=32

~10. /(M25x20P)
‘ X

10 101 25 166
e ol : )] |
1526
- -—
SERA |ARERU | gman | sen
2 W ¢ oamm TEER | EFFECTIVE s Bty lr-'.ll-”r?}:{-. ak %
MUAT M WEMNHT  MaX iMPACT F:I:-H;:rlﬂ S | e

MODEL | STROKE| o pcveLe| Weikp | SPEED
SC2525-1) 25 | 78 | 15~69 | 32 | 0200 | 8~27 |-10-70
§C2525-2 25 | 78 | 39~433 20 | 70200 8~27 | -10-T70
SC2525-3 28 78 108~1733 12 70200  §~27 | -10-70

Cross Flat B=32

oo
=
'
A
10, 101 25 |
|- 136 _
hhdy HetRA | zean o ot
¥ W 4 pmm DERE EFFECTIVE & Pyl Ef!":?uf:. Y
MODEL [STROKE| el | WHCHT wnmicr Sliek | FORCEN romasnn
SC2525-INC | 25 | 78 | 15~69 31 | 0,200 | §~27  -10-70
SCISIS.ZNC | 25 T8 19~ 433 2.0 70200 @ RB=27 A0~ T
70,100 | §~27 A0 - 70

SC 2525-3 NC | 25 Th 108 ~ I.'J'.’I.Ti. 1.2



Cross Flat B=32
M25X1.5P T (C=367)

/TM25%2.0F)

101 127 A 40 .34 |
| 211 o
RaRX | AREPU | zoaa i
# B |¢oamm MERE [EFECTIVE ’:a q:t u.: :i'i:'rlfx ax X
MODEL | STROKE PI'HI::.\:"I.J' ““I:E:; “:::;IE“ : F:‘::'l;;:au I'ljltﬁ'll--.'i TEMFERATLRE
SC2540-1 40 122 20~108 15  B7B40 137 ~41 | -10- T |
5C 2540-2 40 122 S0~ 381 _ 1.2 374540 .I3.‘.|'ﬂ-dl . =1 = T _
5C 2540-3 40 122 2ad ~ 1,501 1.0 E7.R40 137 ~41 | L1n-T0
IS 5P Cross Flat B=32
s ' =367
i, ATMZ5X2.0P) [ 3
i @8
l- ; ms.
™
1
-, 1
(1a; 150 A 50 __I__lﬁ_._ﬁ__
L 2266 _
LA FeETL &= .
B OR i oamm TERE | EFFECTIVE Et:l;! 11:; :ﬂ:’,“ﬁt a2t C
. . 4 " G ax paraer | Maxsm | BETUR i
MODEL | FIRoRE 1"}:::{11::':}_ “1.::‘::;; “::-::r:“ ' e pour | FORCE N | TRMFERATIRE
SC 2550-1) 50 140 20 -124 37 100,800 @ 13~28 | -10~T70
SC2550-2 30 140 48~ 438 24 100800 13~28 | .10-~70
SC 25503 50 140  194-2386 1.2 100800  13~28  -10-~T0



Cross Flat B=32
10 M25%1.5F S C=3AT)
B f;'l_MEE-i{E 0P 4

&

! 137 A 100 A ED A15h |
N 3336 -
BERL A EPU | znuas . B o
oW H & am AEEF EFFECTIVE ' LT | H_rll,ul TQ-‘ e

. 1 SLAN, MM WENZHT | MaAX DPacT | MAX N8 . daigr )
ALODEL | STROKE e o o W O SPEED FERHULR | FORCE N [mesromsros

SC2580-1 80 | 198 24.7~99 4 118800 12~27 -10-70
SC2580-2 80 | 198 44-396 30 118800  12~27 -10-70
SC 2580-3 80 198 [176~1,584 15 118800  12~27 | -10~70

_'l:rms Flat B = 4&
15 M36x1.5P J (e=3)

, i @ ..1 i

0 1) i 1) 0

| — — f— —

|11 134 185 | 60 _;__22'.5__
L 247 .
AL HE¥A | Toas ] n B
-3 i i AR E EFFECTIVE B LTI X I.I:Iﬁl'l'l.?"i =n X
AODEL | STROKE  MAX M WEIGHT | MAN IMPACT | MAR B I'H;II:-I:'I'.'\ S
’ i PER CVTLE We ikg) SPEED FER HULR .

SC3660-1 60 260  57~231 | 30 | 124500  15~58  -10~70
S 36610-2 il 260 130 - K13 20 124 Sik 15-=58 -10~70
SC3660-3 60 260 520-3250 10| 124800 15~58 -10~70



CrossFlat B = 32
10 M 27x 3.0P / (C=367)
- — / (M 27 % 1.5P) !

y

@43

—-H-—-; 101 ot 23 HIE.E__
L 152.6 o
et PANET S S 1 T + "
o R |y ogem THRE  EFFECTIVE ;Ti q: I.q!' :EHIFI:‘}'- az X
MUODEL | STROKE I-::??h:?r ““r'!:il?;}l “:;:::::MT I‘:II:T{;:'H. FORCE N TESMIPERATURE
SC2725-1 25 78 15~ a% 3.2 70200 | 8~27 | -10~T70
‘5-'[“ 1715—1_ 25 8 39~ 433 2.0 70,200 | 8-~27 -10 - T0
SC 2725-3| 125 8 108 -~ 1,733 1.2 70,200 | §-~27 10~ T0
Cross Flat B = 32
10 M27x30P / (C=367)
- = /(M 27 x 1.5P) /
&0
L=
L

Ja 101 25 |
L 136 -l
REEE HFodRid  Eeda P -
oo # mmm TERE  EFFECTIVE > Y ::.':?,.‘:’H L
R T
SCITS-INC | 25 78 15~69 32 70200  $~27 | -10-70
SC27252NC 25 | T8 39-433 20 | 70200 8~27  -10~70

SC 27253 NC 25 T8 WE-1733 1.2 0200  8§~27 | -10-70



	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14

